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BACHELOR OF SCIENCE (B. SC.) 

Term-End Examination 

December, 2023 

Life Science 

LSE–03 : GENETICS 

 Time : 2 Hours    Maximum Marks : 50 

Note : Answer any five questions. All questions 

carry equal marks.  

1. (a) Define the following terms : 5×1=5 

(I) Gene 

(ii) Epistasis 

(iii) Barr body 

(iv) Crossing over     

(v) Karyotyping 

(b) Describe as to how Mendel derived the law 

of segregation. 5 

2. (a) Explain multiple alleles and their role in 

inheritance. 3+2 

(b) Discuss the genetic basis of sex 

determination. 5 
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3. (a) Differentiate between any two of the 

following : 2.5×2=5 

(i) Oncogenesis and Metastasis 

(ii) Continuous and Discontinuous 

variations 

(iii) Griffith experiment and Hershey 

Chase experiment 

(iv) B-DNA and Z-DNA 

(b) Explain the Hardy-Wienberg’s law of 

population equilibrium. 5 

4. (a) State the various control points of gene 

expression. 5 

(b) Briefly explain the mode of action of RNA 

virus in the cellular transformation. 5 

5. Explain the following terms : 5×2=10 

(i) Teratogenesis 

(ii) Specific immune response 

(iii) Overlapping genes 

(iv)  Plasmid 

(v) Genetic mapping  
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6. (a) Discuss the life cycle of a bacteriophage 

with the help of a labelled diagram. 5 

(b) Discuss applications of genetic 

engineering. 5 

7. Write short notes on any two of the following : 

2×5=10 

(i) Genetic counselling 

(ii) Mutation 

(iii) Chromosome banding 

(iv) Translocation 

8. Describe the genetics of blood group system. 10 
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(a) 5×1=5 

(i) 

(ii) 

(iii) 

(iv) 

(v) 
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(b) 

(a) 

3+2 

(b)

(a) 

2.5×2=5 

(i) 

(ii) 

(iii) 

(iv) (B-DNA) 

(Z-DNA) 

(b) 

(a) 

(b) RNA 
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5×2=10

(i)

(ii)

(iii)

(iv)

(v)

(a)

(b)

2×5=10

(i)

(ii)

(iii)

(iv)
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